~-jow-§3/(y 10 M-[ow-3/f Ul aq uwd 95 pue jow-3y/8y 10 oW
“UOTIESUBPUOD 10 UOHRIOdEAd 0] INP ST FUIIYJIP A1}

"6-S PuE §-g ‘SJ @amog
-8/8 w1 aq ueo ssew Jepow YL L

‘sed © s pur pimbiy v s ‘9olm) paisy a1 sawads (22343 se3 = § ‘pnbyy = | ‘pyos = s,

T$9°6¢ $LLT6L L98°'T L9E°91- 868°SH— COEO'LT 3 ‘HN
9LE 67 L¥1°50T 0 0 0 8866°1€ 3 5
$T1°6T 609161 0 0 0 $£10°8T 3 N
97£'¢€S 00¥'99C $$6T1 1¥6'€L— 90 PEI— 8T10°€9 3 tONH
¥L69E PE0 0T 086'8— 85T’ $60'€€ SS00'9% 3 ON
9ST'LL 9LE'H0E e L= L8LLE 6L0°6 110726 3 YO'N
605'Zr!1 861607 S80'LI— 128°L6+ $95°61— 11026 I YOIN
SP8'E9 0097182 LT8'0T LLOMR] 1= 998°8S1— W' T6 3 t41D
$91°L6 6€L°01€ 90L'ST STL'9P1— 887" 8€T— 0STP 0Ll 3 41D
TLO'8T1 081'¥81 $TSSl L09 88— LIL'S6T— S8 LI1 § YOID'HN
£18°08 61L°8ET L68'LT— TET 651+ £ceset 1$40°TE 3 YHEN
0r8'86 S 121 181'82— oty 6vl 97905+ 1502 I YHEN
065°€€ P£° 881 Ly0'OF 78587~ 978’ 17— 8TS10°81 3 O'H
1$£°SL 056'69 9S 1Y 1 LET— 0€8°S8T— 8751081 I O'H
8€1°6T 08L°TLI L1118y Y LT 9pSTLL— £900°07 g JH
9€1°6T 106981 96991 00€°S6— 716~ 019%°9¢ g [DOH
9¢8'8C 089°0¢€1 0 0 0 €8510°7 3 H
621°LE S6LEIT S60°69 68€ P6E— TS €68~ 010t 3 0D
w6z £597L61 0£0°+T €91°LEL— L2501 = 9010°8¢ g 00
6£9°S€E 1ST'981 £68°8 89L°05— €LY PL— 9.L¥0°91 3 YHO
LIS'S 0pL'S 0 0 0 110771 s (evydeis) O
S10'6L 867°L9 $0v'897 STOTEST— L9091~ 7196101 I 04V
0T T SLT8T 0 ] 0 S186°6T s (1e18419) 1Y
(31-1owy/r) (-10w1/[) (owr/ ) (jowy/) (jow/3) Laseud aouBISqNS
i o5 Ay 8o DV HIV SSEIA IBIOIN

(1mq 1) BJIAL 170 PUB (D.ST) M S1°867 ¥ SAOUBISGNS P3RS JO sanadolg OIWRUAPOWIA T, [BAIWYD [-§ HTAVL



